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I 27l gl & B ZsE HEtHE 2
EIRER = 1.0 1.0
AN+ T =® 1.0 1.0

fEEIT =® 1.0 1.0
il R m° 1700. 0 1661. 6

iz Al higw Rt (BLED) m° 1500. 0 1502. 9

il igw Bt (BEk#) m° 800. 0 808. 7

H+T =® 1.0 1.0
BRIA (FELR) Bt |2.5mkiH m° 50.0 46.0

BRIR (FE1R) BBL (2. 5ml b4 OmkiE m° 10.0 5.2

EEERL =® 1.0 1.0
REER (ELH) [BL LYXEL. RRUBEL, %L m? 100.0 98.3

BImET =® 1.0 1.0
TR ERR TR ER - ERRYLEED) m’ 1630.0 1632. 1

“Bigns TR (ER - EREVLEED) m° 1630.0 1632. 1

A L—X) thige R+ (ElME#k) 50, 000m ki m° 1120.0 1123.6

TREER iRt (BLEH®) m° 1500. 0 1502.9

TR EW iRt (AL HR m° 1120.0 1123.6

EBrEasn REHRL m° 2630. 0 2626.5

iR T =® 1.0 1.0
BT =® 1.0 1.0
hERENE W ERRE 3m TR 6066m m° 6066. 0 6065. 7




B E B B X

I 27l gl & -k v ZsE HEtHE 2
EEEMT =® 1.0 1.0
E%+T =® 1.0 1.0
RiEY TR m° 90.0 86.0
FRAE Y g Rt m° 310.0 314.9
BREL 18 - RREBR ML EAnK 5 m° 10.0 6.4
BEL T8 - BAERL OmkH m° 50. 0 51. 1
BRL A RC-40EKXIBREIZImEL _EAms i m° 40.0 44.9
HEEEE m’ 740.0 736.5
ARMT =® 1.0 1.0
avpu—rvmvszavaysm (LI O YR 1%120mm m’ 488.0 487.17
XiFa >4 1)— b+ |18-8-40BB m 170.0 170. 4
H@a o) — b |URKIRER m 126.0 126.0
@ ) — b |URKEREE m 37.3 37.3
fEE 570 2.0 2.0
fET =® 1.0 1.0
Tl v R FUBEE [PUTSO m 126.0 126.0
ISATTHERE T = 1.0 1.0

INEY R RE 0. 5miA E0. 65k 18-8-40 (B 4F) m 3.6 3.6 | 5%
FHEEH T =X 1.0 1.0
mT =® 1.0 1.0
FA5E W2000 5170 2.0 2.0
F9 e W4000 B 1.0 1.0
£ - T4 GIARLM XS - 1.8m 2m m 117.0 117.0




B 2 B F X
I Al gl & B R E HEtHE 2

TREEERT = 1.0 1.0
FRAMEERT 2 1.0 1.0

MAREERT &= 1.0 1.0

MRS T = 1.0 1.0

MR MR T iz 1.0 1.0

Ry o ZAN—k|ERE  B600 x H600 m 6.0 5.9

SET o 1.0 1.0
AV — T 2 1.0 1.0

TE®E (HER) |BEY 5 v+ 3 RC-40) t=10cm m? 497.0 497.1

oV ) — &% |18-8-25 t=10cm m’ 497.0 497.1

BEYRET o 1.0 1.0
BEYIRELT 2 1.0 1.0

avy Y- MEEmEIEL [ EERET m 4.0 4.0

BRI T 2 1.0 1.0

B |HEaVH ) — b m° 4.0 4.0

w5 |mHaU)—+b m® 4.0 4.0

RExT o 1.0 1.0
IEMERT = 1.0 1.0

TERERET |4 Omblk (BE) m3 80.0 79.6

AT (RC-40) t=10cm [RC-40 m2 86.0 86. 1

2653 22 x 1524 x 30485% & - #iE= m2 836.0 836. 1




I G 57 Hig BAr ZHHE RETHE e

45 - (RAZFBT = 1.0 1.0

B %R 22x 1524 x 60965 & - B & m2 14.0 74.3

EHIERE H300 x 300 x 10 x 15 t 0.7 0.7

45 L &8 354 t 6.7 6.7

45 L& W= t 13.4 13.4

REET = 1.0 1.0

BETHEE - wERE - w28 | 1000 % 2000 x 200 m2 48.0 48.0

KEL = 1.0 1.0

R THEK 0LLE40 m3/h) Kidm 1EZBFHEK =| 100.0 100.0

REEET = 1.0 1.0

RBFEERE AH 144.0 144.0

EBEEIZEE = 1.0 1.0
HoERER = 1.0 1.0
HBEREE = 1.0 1.0
ERE = 1.0 1.0
ERBMHsRETHEE (hE RS NI = 1.0 1.0

REMEERE t 338.0 338.3

RifTEEE = 1.0 1.0
EHIAEE = 1.0 1.0
AEREEE = 1.0 1.0
MIEE = 1.0 1.0
RiGEHEE = 1.0 1.0
T =R = 1.0 1.0
—REHE = 1.0 1.0




*3;& % *‘f‘\ *E
TiE 2 g2l R Hif R E HETHE e
T %Afi%E = 1.0 1.0
HEBHESE =X 1.0 1.0
Ix%E = 1.0 1.0




AL THESRAHR

=2al A & B HE s
fEHIT R Al TR m® 1,661.6
R Al iz R (BES) m® 1,502.9
R Al iz Rt (BEME#) m® 808. 7
BT BRIA (F1R) Bt |2 5mKiE m® 46.0
BiA (H12) Bt (2 5mil b4 OmkiE m® 5.2
EEBERT EEER TR Bt m? 98.3
EirmET TREERR TR m® 1,632.1
‘Lo TR m® 1,632.1

BEA L—X) g R+ m® 1,123.6 Bk

B g R+ m® 1,502.9 %5

B g R+ m® 1,123.6 Bk

ny g R+ m® 2,626.5 BES+EEERS

E¥xT FRIE Y TR m® 86.0
FRIE Y g R+ m® 314.9
BREL 18 - RKERImL EAnKE | 6.4
BREL T8 - BXEREL Onki m 51.1
BRL BAE RC-AOBKEREBIM Lk | m° 45.9
EAEEE m? 736.5




T IT&EE

] 1o AT AR B B - g
EF £F EF £F EF £F

T® m’ 1,661.6 - - - 1,661.6
& Hl iR LED) | 1,502.9 - - - 1,502.9
g R (B | 808.7 - - - 808.7
25mEfE | m’ 46.0 - - - 46.0
Bt T |osmitaomkim| m® 52 - - - 5.2
40mplt | m® 0.0 - - - 0.0
- i m’ - 203 26.1 39.6 86.0
YRt m’ 2535 40.3 21.1 - 314.9
4mil E m° - - - - 0.0
T8 [implbam®g| m° - - - 6.4 6.4
L ImkiE m’ 51.1 - - - 51.1
B [imlEdmks| m° - - - 11.3 11.3
(A ImE m’® - - - 8.6 8.6
%A RC-40 m’ 45.9 - - - 45.9
EEEF m? 572.6 116.1 23.6 24.2 736.5
SKE R G m’ = = - - 0.0
2k m? 98.3 - - - 98.3
R m’ 1,547.9 22.6 29.0 32.6 1,632.1
s iR L ED) | 0 1,502.9 - - - 1,502.9
iR R ELE) | o 1,062.2 40.3 21.1 - 1,123.6




+ 8 i & 2 (201
kF
i — EE R o) EE i EE (o) -
WrEfE EH = BT TR g H= WrEfE EH ==
NO. 1-3.78 - 0.0 - - 0.0 - -
NO. 1 3.78 16.0 8.00 30.2 35.0 17.50 66. 2
No. 1+5.0 5.00 16.0 16. 00 80.0 35.0 35.00 175.0 No. 1{E FH
NO. 2 15.00 33.0 24.50 367.5 3.3 19.15 287.3
NO. 3 20.00 15.3 24.15 483.0 4.0 3.65 73.0
NO. 4 20.00 4.0 9.65 193.0 3.5 3.75 75.0
NO. 4-1 0.00 42.2 - - 3.5
NO. 5 20.00 5.3 23.75 475.0 6.0 4.75 95.0
NO. 5+12. 40 12.40 0.0 2.65 32.9 0.0 3.00 37.2
BRI E LS 1502.9 AR E T SE
&5t 96. 180 1661. 6 808.7

(B ERFRL)




E &t 5 & (202
ERE
s — B 2.5mkiE (n) Bt 2 5milb4 OmkiE (n') Et 4.0mlE (n) -
M EAA F13 BE M EAR Ty BE M E AR F13 BE
NO.1-3.78 - 0.0 - - 0.0 - - 0.0 - -
NO. 1 3.78 0.2 0.10 0.4 0.1 0.05 0.2 0.0 0.00 0.0
No. 1+5.0 5.00 0.2 0.20 1.0 0.1 0.10 0.5 0.0 0.00 0.0 No. 115 /8

NO. 2 15.00 0.2 0.20 3.0 0.1 0.10 1.5 0.0 0.00 0.0

NO. 3 20.00 0.6 0.40 8.0 0.1 0.10 2.0 0.0 0.00 0.0

NO. 4 20.00 1.3 0.95 19.0 0.0 0.05 1.0 0.0 0.00 -

NO. 4-1 0.00 1.3 - - 0.0 - - 0.0 0.00 0.0

NO. 5 20.00 0.1 0.70 14.0 0.0 0.00 0.0 0.0 0.00 0.0

NO. 5+12.40 12.40 0.0 0.05 0.6 0.0 0.00 0.0 0.0 0.00 0.0

&t 96. 180 46.0 5.2 0.0




+ 8 it & &2 (203)
kF
s [ HREER PLEH o) EEER BTEs o) -
Z2E EH H= EE g #H= WrEfE EH =
NO. 1-3.78 - 0.0 - - 0.0 - -
NO. 1 3.78 0.0 0.00 0.0 1.2 0.60 2.3
No. 1+5.0 5.00 0.0 0.00 0.0 1.2 1.20 6.0 No. 1{E FH
NO. 2 15.00 0.0 0.00 0.0 0.8 1.00 15.0
NO. 3 20.00 0.0 0.00 0.0 0.9 0.85 17.0
NO. 4 20.00 0.0 0.00 - 1.8 1.35 27.0
NO. 4-1 0.00 0.0 0.00 0.0 1.8 - -
NO. 5 20.00 0.0 0.00 0.0 0.8 1.30 26.0
NO. 5+12. 40 12.40 0.0 0.00 0.0 0.0 0.40 5.0
&5t 96. 180 0.0 98.3
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RN ETHEETR

&R A FRAE i:-¥iv H= e
BE#ET hERSMET 250kg/m3 m 6, 065. 7




& Al A - R =1 = Bf o =
HBERRRET
M R ith A& 250kg/m3 |ZF BHEELRED EL46. 600
® L = 117.822 m
@ L = 111.819 m
3@ L = 109.509 m
FEIFEER EL46. 200
@ L = 61.142 m
@ L = 57.701 m
3@ L =  56.454 m
@ A = 1308.000 | m?
1/2 x ( 117.822 + 111.819 )
x 3.600 x 2.700 = 1116.055 | m’
1/2 x ( 61.142 + 57.701 )
x 2.800 x 2.300 = 382674 |
1/2 x ( 111.819 + 109.509 )
x 1.000 x 4.600 = 509.054 | m
1/2 x ( 57.701 + b56.454 )
x 1.000 x 4.200 = 239.726 m’
1/2 x ( 2.800 + 3.000 )
x 1308. 000 = 3793.200 | m’
TV = 6040.709 |
{REE T HhAg R B R TR RIERS
6040.709 +  0.000 +  74.240 -  49.216 m® | 6065.733
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toshika
折れ線

toshika
折れ線

toshika
折れ線


WRIRTIBEHEE

7oAl A - R = = Bzl # =
R

BmErt+E 250kg/m3 |HBENEEHTE
6040.709 = ( 1308.000 + 623.903 ) = 3.127 m

MY DHREMRAT)—& (a)

250 + 3.060 + 250 = 331.699 | I/m3
EETE B = 075

3.127 x 331.699 = 1000 x 0.7 =  0.778 m
L o <

0.778 x ( 1308.000 + 623.903 ) 1502.862 [ m3 | 1502.862

@
©)
@
= g A=1308. Ond
FEIBELEE  A=623.903mi
T
e
\ \\
\
M JE 44.62m \
Y HPE i \
mIE  ° ' oo
\




REBMT GREM) BEKFE

Al bl i By = &

AYHY—kTRYITETAYIH EJnvyik t=12cm HEFERRERC-40=100m| 2 487.7
fhB#E E th t=10mm m’ 6.0
Xigarsy—k  [18-8-40BB m 170. 4
H@Eao o )— b [18-8-40BB UZB/KELER m 126.0
18-8-40BB  UBY/K X 4E m 37.3
B2 t=30cm [ 2.0
T 7 L% R FUBEE [PU18O m 126.0

AT HERE T INB R RE 18-8-40BB m 3.6 55 /VEY R
fBHE E th t=10mm m’ 1.4
[P FiRE 2000 R 2.0
FiRE W4000 R 1.0
&4 - 34t GLARLLHR) |H1800 m 117.0




RENTHEHFES

oAl b3 EF &Et
FR 1R iz R+ 253. 497 253.497 |
_ T8 (Imk ) 51.126 51.126 m
BORL BA RC-40 45. 888 45. 888 m
HEIE 572. 633 572.633 | m
EJOwv g t=12cm 487.676 487.676 m

Kigarsy—k 18-8-40BB 170. 419 170. 419 m

B s )— b 18-8-40BB 163.779 163.779 m
S t=30cm 2. 000 2.000 | 7R

TL¥ v R FUBEE PU180 126. 000 126. 000 m
=T 18-8-40BB 3.562 3.562 m
fefE B th t=10mm 1. 406 1. 406 m?
_ W2000 2. 000 2.000 | 7R
Fi5 W4000 1.000 1000 | &M
xyrITUR H1800 117. 000 117. 000 m

EETE

L1 L2 FEHL SL1 SL2 | EwsL | miE

m m m m m m m2

4.974 | 1.198 | 3.086 | 2.931 | 2.931 | 2.931 | 9.045

1.600 | 1.600 | 1.600 | 1.254 | 1.254 | 1.254 | 2.006

24.244 | 24.244 [ 24.244 1 2.931 | 2.931 | 2.931 | 71.059

37.613 | 41.491 [ 39.552 [ 2.931 | 2.931 | 2.931 [115.927

24.196 | 23.261 [ 23.729 | 2.931 | 2.931 [ 2.931 | 69.550

2722 | 22722 [ 2.722 | 2.931 | 2.931 | 2.931 | 7.978

14.882 | 14.109 | 14.496 | 2.931 | 2.931 [ 2.931 | 42.488

18.630 | 18.679 | 18.655 | 2.931 | 2.931 [ 2.931 [ 54.678

40.958 | 37.475 [ 39.217 [ 2.931 | 2.931 | 2.931 [114.945

Bt 487.676




RENTHEHFES

& Al A - R =1 = Bf o =
EREREM
1R EHBE L [FR IO VY
487.676 x 0.220 = 107.289 | m’
Kimaroy)—+t
0.300 x 170.419 = 51.126 | nm®
HEEa 0 1)—+
0.500 x 163.779 = 81.890 | nm’
SEINEI R RS
0.400 x 31.66 = 12.664 | nm’
e
0.264 x 2 = 0.528 | nmd
TV = 253.497| 253. 497
BREL T®  [RFarsu—+
0.300 x 170.419 m® 51.126
BREL ERA (E#ars)— (UBKERER)
RC-40 0.200 x 126.00 = 25.200 | m®
HEa o1 )—F (UBIKERAEL)
0.300 x 37.30 = 11.190 | nd
SEINEI R RS
0.300 x 31.66 = 9.498 | p
TV = 45.888 | 45. 888
HEEIE ERIJOvY
= 487.676| m?
HEEa 9 1)—+
0.450 x 163.779 = 73.701 | m?
SE IR R
0.300 x 31.660 = 90.498 | n?
e
0.879 x 2 = 1.758 | m?
TV = 572.633| ml 572.633
FEIOvs | t=12cm m? | 487.676
HEEERFt=100m m? 487.676
fefiE B e t=10mm | 49.827 x 0.120 m? 5.979
defal il
Xtk 21— | 18-8-40BB | 59.888 + 110.531 m 170. 419
defal il
Hpao o 1)— | 18-8-40BB | 56.454 + 107.325 m 163.779
(=12 t=30cm & 2.000
PAVE RS QNIE L PU180 m 126. 00
5S/NEpERE | 18-8-40BB |L = m 31. 660
V= (015+ 03) /2% 05 % 31.660 m 3.562
fefiE B e t=10mm 0.703 x 2.000 m? 1. 406




RN TIHETEE
2 Al A - R g = B # =2
FH R W4000 (B =) & 1.000
W2000 (FHRE =) & 2.000
*y b7 UR H1800 CADEHRIIZ & B m 117.00




Rimary)—+ BHUBEHEE

10.0mzg v
T e % =
7S iR R L m’ 0.3
HEL EXEELIE InkiE et 2:3
E A (RC-40)
BEOq A - 3R =1 = Hiy| % 2
PR gk B+ | 0.300 x 10.000 m 3.000
BRL T RAERLIE 1nKiH
0.300 x 10.000 m 3.000
avs1y—k | 18-8-40BB | 0.200 x 0.500 x 10.000 m’ 1.000
Eil 0.500 x 10.000 m’ 5. 000
B 0.200 x 10.000 m’ 2. 000




EFEa0)—F BHUBEHEE

10.0mzg v
UE! 7K BE 87
& b=l By o# 2
E B W Rt m’ 0.5
EEL HEERA mé 0.2
U AR L
T b Bify # B
E iE piuki g g e m? 0.5
ERL EMBRE m? 0.3
300 _
N _ 100200
A (RC-40) — ] c>/
8
:lZ/_'?_'J—F 450
BEOq A - 3R =1 = Hiy| % 2
PR gk B+ | 0.500 x 10.000 m 5. 000
BRL EBRA |UBKERER
RC-40 0.200 x 10.000 m’ 2.000
UBSsKB&% L (L=37. 3m)
0.300 x 10.000 m 3.000
HEEEFE 0.450 x 10.000 m? 4. 500
avs1y—k | 18-8-40BB | ( 1/2 x ( 0.300 + 0.450 ) x 0.500
- 1/2 x 0.200 x 0.100 ) x 10.000 m3 1.775
( 0.200 x 1.118 + 0.500 x 1.044 )
Eip x 10.000 m? 7. 456




UBIKER B EEtEE
10.0Om% v
250
B5 _ 180 _ 35
TETET ) [} F.’
= g l"J
Sl /
W )
= . /]
;"lff
}f
& Al A - FHAE = = B # =

7 VA ANERALE| BERE L = 0.600 m

180 10.000 / 0.600 X 16.670




NEGIER)
300
REED Lo Y — b ?ﬁﬁ?
18-8-408B
N FEIOvy S| _
o
(3]
L=2.931m
® A |- s 5 = | % B
FR1E gtk RE | 2.931 x 0.300 x 0.300 m 0.264
BR 2.931 x 0.300 m 0.879
avy)—k | 18-8-40BB | 2.931 x 0.300 x 0.300 m® 0.264
i ed 2 x 2.931 x 0.300 m 1.759
e B ih t=10mm 2931 x 0.120 x 2 m’ 0.703




FigEEEME W2000 BEuBEFHES

HERIED)
W2000
us
— mf#[
H HH ____:'j_
’f_’Yt * v B 1 =
E&'L%:—E/-\/—fﬁ/»‘fﬁ T 17T
I|HeH a6 - = @& R HHH H e
i T | [T s s4 8
I AN ()|NRE UL
sogxt.6 TITH | 1
= il T TR
GL+0m ﬂtﬁ%{ﬂ Lﬂ I e
‘J‘idaeo.sxs.z L@Q}ji $60.5x3.2 ; . 2
HL 16 ‘
FHE LS
] L 0
H®
oto Mow
& Al A - R g = i:-Eiva o =
avyy)— b | 18-8-40BB |( 0.300 x 0.300 x 0.600 ) x 2 = 0.108 m
0.200 x 0.200 x 0.200 = 0. 008 m
0.116 | 0.116
B 4 x ( 0.300 x 0.600 ) x 2 = 1.440 m
4  x ( 0.200 x 0.200 ) = 0.160 m
1.600 | m? 1. 600
iR RC-40  [t=100mm
( 0.400 x 0.400 ) x 2 m? 0.320
( 0.320 x 0.100 ) x 2 m 0.064




FigEEEME WA000 B EFHES

IERIER,
14000
060x30x 1.6 #E
= i} M o 1|12 -
| i il |
HH TALY Ay HH
LM INATFrvavii) HH e L
E:T 1 \ 2-ampL23 1Y N T:= |l =
UL U $38.1x2.3
A $50.8x2.3 = [ all
6l = ba-i ¥
060x30x 1.6 j e
[1] $89.1x3.2 $89.1%3.2 [1] o g
Llf;i 0x2 -1 - =
/ avysy—+
18-8-4088 EL 16 A
R fitiE L 24t
RG-40 H 0 500 %
& Al Al - FRAE -1 = B # =
avyy)— b | 18-8-40BB |( 0.500 x 0.500 x 0.700 ) x 2 = 0. 350 m
0.300 x 0.200 x 0.200 = 0.012 m

0.362 | m’ 0. 362

el 2 4 x ( 0500 x 0.700 ) x 2 = 2.800 | m
2 x ( 0300 x 020 + 0202 ) = 020 [ m
3.000 | m? 3. 000
iR RC-40  [t=100mm
( 0.600 x 0.600 ) x 2 m? 0.720
( 0720 x 0.100 ) x 2 m® 0.144
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EJOyYsRY HEAYRETESE
B E 10m2 HY
I i B BT
BB | shmuadt n3 0.598
S¢CADET I
EJOyYERY EEE
L - R 5 g & A Baf =
K 12 R R L 0.598/2. 931 x 10. 000 m3 | 2.040
=y 1%10. 000 m2 | 10.000
iR RC-40 t=10cm 1x10.000 m2 10. 000
0.100x10. 000 m3 1.000
ERYTAYY t=12cm 1x10.000 m2 10. 000
b g L8] g Rt 0.598/2.931 x10. 000 m3 2. 040
ﬁﬂﬁ"ﬁ =] i 1<0mm 12%]3& BEE&%E@ 2.931x17 m 49 897




RBMT (RARR) MERFHE

=2al A & B HE s
AT aviyy—+ 18-8-40BB m® 21.7
@ B m? 23.1
HyLarsy—+ 18-8-40BB t=10cm m? 81.6
@ B m’ 4.3
A Yuic VNN t=50cm m? 32.1
INEY g 18-8-40BB m® 1.5
G EilE m? 10.2




RAMSRBEHEE

poy = HiE _
I A - &%
'R R o T mrE | SRl | BR oLy
ER ) - 20. 339 - - 20. 339 m | a
PRiR g R+ 3.595 36. 698 - - 40. 293 m | X
HEEF 7.190 108.918 - - 116. 108 m |
av41)—+ | 18-8-40BB - 27.734 - - 27.734 m
ENET - 23.091 - - 23. 091 m
#La>vs)—r| 18-8-40BB - 81. 625 - - 81. 625 m
ENET - 4.303 - - 4.303 m
JKEgaR ML K44 | B=290, t=5 - — - - 0. 000 m
L 1k 7K AR t=10 - — - - 0. 000 m
X4 1)—> |[B2000 x H1000 - — - - 0. 000 ®HFr
mSww b t=50cm 7.190 24.900 - - 32.090 m?
1~22/nEugeee | 18-8-40BB - 1.505 - - 1.505 m
ENET - 10. 230 - - 10. 230 m
R4 2HL3— +[B1900 x HB00 - - - - 0. 000 me
v k7| H1800 - - - - 0. 000 m
iz} Al A - FRAE g = =2k (v) # 2
EiE 7KI2
73] bkt g = 7.190 x 0.500 m 3.595
EEBIE My FRBE m 7.190
WSy k t=50cm 2.000 x 3.595 m? 7.190




& Al A - R =1 = Bf o =
EF HRR
FR IR b)) ( 1/2 x ( 0.567 + 0.675 )
x 3.097 ) x ( 5000 + 1.500
+ 3.550 ) = 19.329 | nd
0.200 x ( 1.500 + 3.550 ) = 1.010 | md
TV o= 20.339 | 20. 339
g B+ | 1/2 x ( 0.494 + 0.580 ) x 1.930
= 1.036 | m
1/2 x ( 0.580 + 0.567 ) x 4.600
= 2.638 | m
6.600 x ( 1.036 + 2.638 )
+ 24.900 x 0.500 = 36.698 | m® 36. 698




& Al A - R =1 = Bf o =
HEEIE 3.130 x 15.100 m? 47.263
5106 x 5800 + ( 0.300 + 0.975 )

x 5.600 m? 36. 755
NSy FERBE m? 24.900
TA 108.918
avhy—k | 18-8-40BB | 4.600 x 2.680 - ( 1/2 x 4.400 x 2.200
+ 1/2 x 4030 x 2015 ) = 3.428 | m?
0.480 x 1.930 - 0.050 0.876 | m
SA = 4.304 | m?
2 x ( 4.304 x 0.300 ) 2.582 |
0.300 x 5.000 x 6.530 = 9795 | n
1/2 x ( 0.450 + 0.300 ) x 0.300
x 5.600 = 0.630 | m
1/2 x ( 0.480 + 0.300 ) x 0.180
x 5.000 = 0.351 |
1/2 x ( 3.366 + 3.465 ) x 0.300
x 5.000 5123 |
0. 300 3.000 x 2.989 = 2.690 | m
0.300 x 7.100 x 3.081 = 6.563 | m®
TV o= 27734 | 27.734
Eip oA = 4.304 | m?
1/2 x ( 0.450 + 0.300 ) x 0.300
= 0.113 | m?
1/2 x ( 0.180 + 0.465 ) x 0.570
+ 3.830 x 0465 + ( 1/2
x ( 0.465 + 0.365 ) x 0.200 ) = 2048 | m?
1/2 x ( 1.450 + 1.630 ) x 0.180
- 0.050 0.227 | m
0.365 x 0.300 = 0.110 | m?
1/2 x ( 3.366 + 3.465 ) x 0.300 = 1.025 | m?
SA = 7.827 | m?
2 x 1.827 15.654 | m?
5,000 x 0.300 x 1.053 = 1.580 | m?
5.600 x 0.780 = 4.368 | m?
5,000 x 0.180 x 1.414 = 1.2713 | m?
UZY 7K B&ER
4 x 0.180 x 0.300 0.216 | m
A = 23.091 | ml 23. 091




iz} Al A - BB g = =2k (v) # 2
#Lavs)— k| 18-8-40BB | 5.106 x 5.800 29.615 | mw?
t=10cm 1/2 x ( 0975 + 1025 ) x 5600 = 5600 | m
1/2 x ( 3.097 + 3130 ) x 5000 = 15568 | m?
3.000 x 2.989 = 8.967 | m
7.100 x 3.081 = 21.875 | m
A = 81.625 | 81.625
81.625 x 0.100 m 8.163
Ny ( 1/2 x ( 0.975 + 1.025 ) + 5106
+ 1/2 x ( 3.097 + 3.130 ) ) x 0.100
0.922 | m?
2 x 0.922 = 1.844 | n?
( 3.000 + 7.100 ) x 0.100 = 1.010 | m
5000 x 0.100 x 1.053 = 0527 | m
A = 4303 | 4.303
WSy k t=50cm 9.600 x 3.425 - 5600 x 1.425 m? 24. 900
1-22/nEugERe | 18-8-40BB | ( 1/2 x ( 0.200 + 0.417 ) x 0.483 )
x ( 3.000 + 7.100 ) m’ 1.505
R 0.483 x ( 1.000 + 1.097 ) x ( 3.000
+ 7.100 ) m? 10. 230
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RBMT (MRkR) MERHE

=2al A & B HE s
MR T aviyy—+ 18-8-40BB m® 4.4
@ B m? 20.6
HyLarsy—+ 18-8-40BB t=10cm m? 5.3
@ B m? 1.1
A Yuic VNN t=50cm m? 11.8
Ry s ZANN—k & B600 x H600 m 6
BELZIL 1:3, t=2cm m® 0.1
yLarsy—+t 18-8-40BB t=10cm m? 6.2
G EilE m? 1.2
EREH RC-40, t=15cm m? 6.2
725y TH—¢ 600 x 600F8 & 1
KikE /R4 T $50 m 1.5




BRESMEHEE

& Al A - B ki EiE &%
T 26.067 — 26. 067 m’
PRiR g R+ 21.133 — 21.133 m’
EEETF 23. 601 — 23. 601 m’
avhy—+k 18-8-40BB 4.432 — 4.432 m’
ENET 20. 564 — 20. 564 m?
Lavs)—r| 18-8-40BB 5.323 — 5.323 m?
N 1.142 — 1.142 m’
moww b t=50cm 11. 751 — 11. 751 m2
Ry o 2hni— k| ZEEB600 x H600| 5. 859 — 5.859 m
BE)LAIL 1:3, t=2cm 0.101 — 0. 101 m
Lavs)—r| 18-8-40BB 6.211 — 6.211 m?
N 1.172 — 1.172 m’
EHREH RC-40, t=15cm| 6.211 — 6.211 m?
75w I5— K| 600 x 6008 1. 000 — 1. 000 ]
KiRENA T ®50 1.500 — 1.500 m
& Al A - B g = =2k (v) # 2
ki H0OER
KRR o)) 1/2 x ( 2.433 + 2480 ) x 2630 = 6.461 | ml
1/2 x ( 2.480 + 1.000 ) x 0.750 = 1.305 | m
2.600 x ( 6.461 + 1.305 ) +
+ 11.751 x 0.500 m 26. 067
agm Bt | 1/2 x ( 0.600 + 2433 ) x 5360 = 8128 | m?
2.600 x 8.128 m 21.133
HEEEF ( 0.898 + 0324 ) x 1.800 + 5 059
x 1.060 + 0.700 x 1.600 m’ 8. 682
1.760 x 1.800 m? 3.168
NSy FREBEH m? 11. 751
8 = 23. 601
H0OER
avsy—k | 18-8-40BB | 2.158 x 1.249 - ( 1/2 x 1.498 x 0.749
+ 0.660 x 0.749 ) = 1.640 | m?
2 x ( 1.640 x 0.300 ) = 098 | n
0.300 x 0.500 x 1.000 = 0.150 | md
1.858 x 0.320 x 1.000 = 0.595 | pd
( 1.600 x 1.400 - 0.860 x 0.860 )
x 0.300 = 0.450 | m’
MR NETEE
F =il “mAl . t8iR = =t |§él:';| * =




T™= /711 ru /14y NMLIA Eau -\ =+ I BX =
it O #p
1/2 x 0.624 x 2.080 = 0.649 | m?
( 1/2 x ( 0.750 + 0.400 ) x 0.700 )
+ 0.750 x 0.300
- 0.126 x 0.030 = 0.624 | m?
2 x ( 0.649 x 0.300 ) = 038 | m
0.624 x 1.600 = 0998 | m
0.174 x 0.270 x 1.600 = 0075 | n
( 1.600 x 2.110 - 0.860 x 0.860 )
x 0.300 = 0791 | m
TV = 4.432 m 4.432
[l iy &F0OE
= 1.640 | m?
1.858 x 0.180 + 1/2 x 1.498
x 0.749 0.895 | m
0.300 x 1.400 = 0.420 | m?
2 x ( 1.640 + 0.895 + 0.420 ) = 50910 | m?
1.600 x 1.400 - 0.860 x 0.860
+ 0.380 1.880 | m?
0.180 x 1.000 = 0.180 | m?
it O #p
0.174 x 0.270 + 0.649 + 0.624 = 1.320 | m?
0.300 x 2.110 = 0.633 | m?
0.300 x 2.080 x 1.044 = 0.651 | m?
2 x ( 1.320 + 0.651 + 0.649
+ 0.633 ) 6.506 | m?
1.600 x 2.380 - 0.860 x 0.860 = 3.068 | m?
1.600 x 1.000 + 1.42 = 3.020 | m?
A = 20.564 | m? 20. 564
gLavsy—k| 18-8-40BB | ( 1/2 x ( 0.274 + 0.324 ) + 2658 )
t=10cm x 1.800 m? 5.323
5.323 x 0.100 m 0.532
ik ( 1/2 x ( 0.328 + 0.378 ) + 2658 )
x 0.100 = 0.301 | m?
1.800 x 0.100 = 0.180 | m
2 x ( 031 + 018 ) + 0.180 m? 1.142
WSy k t=50cm 3.917 x 3.000 m? 11. 751
MR NETEE
F =il “mAl . t8iR = =t |§él:';| * =




t= o | mam - mum - " s o om
Ry o 2h)Ls— | B600XHB00 [L= 5.859 m R | 1.000
m 5. 859

BELZIL [1:3, t=2cm m 0.101
#La>s Y — k| 18-8-40BB m? 6. 211
Rl £ m? 1.172
EiEH RC-40 m® 6.211
735w 74— k| 600 x 6008 e 1..000
KikRE AT $ 50 0.300 x 5 m 1.500




Ry XF)L/N— KB600 x H600 =it EE

EFIEREY

260 -
1%0_ 600 _13__0_
/121 N
100
o N 7, BELEL
| s 1:3
= T 7
7 J‘\_ﬁ_@i
wLavry—r /) R
18-8-40
100 860 100
1060
BEOq A - 3R =1 = Hiy| % 2
7" LAk AIK L = 2000 m
RCE yh2MN — b 5.859 / 2.000 P/ 3.000
BEJLZ) [1:3 t=2cm| 0.860 x 0.020 x 5.859 m3 0.101
HyLavyy—+| 18-8-40BB [t=10cm
1.060 x 5.859 m’ 6.211
6.211 x 0.100 m 0. 621
[El=E:E 2 x 0100 x 5.859 m’ 1.172
EHEM RC-40  |t=15cm
1.060 x 5.859 m’ 6.211
6.211 x 0.150 m 0.932
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S THERIR

=2al A & B HE s
avy ) — K 18-8-25 t=10cm m? 497. & IE AR
8 BEYS YL v—52 R0-40) t=10om| 2 497. B AR
féaifie E th £=10mm m? 19. &1 @ R ED
REEHE $5-100 % 100 m? 497. & B R R ED
pih o m? 16. EHERE R




belo

oAl A - RS 1 = B

EEAERN SHEIRILRKSE (CADFHRIZKL D)

avy)— %] t=10cm |A = 192.59 + 304.48 m? 497.07
PR A% RC-40 t=10cmA = 192.59 + 304.48 m? 497. 07
fepifie B t=10mm (Rih& DFEFRE  (D-6fFiEH 56-104F3)
143.39 x 0.100 = 14.339

EERBRIERL=1MT & RER

EEAEE L = 117.822 + 61.142 = 178. 964
L = 178.964
F191E8
W = 497.070 / 178.964 = 2771
miE
A= 178.964 / 10.0 x 2.777 x 0.100
= 4.97
A5t 14.339 + 4.97 m? 19. 309
BHESWE | ¢5-100x100 m? 497.070
B ESEERa VY ) — Mg mER
EHEABRER
EEAEE L = 117.822 + 61.142 = 178. 964
L = 178.964
71 U RERC & BEIPER
(BEEABREREL=2nzD> %, L=0. 2miZk)
L = 178.964 x 0.100 = 17.896
ERE&E L = 178.964 - 17.896 = 161. 068

A = 161.068 x 0.100 = 16.107 m? 16. 107




SETRME ()

a9 — R
&I B R AR

FERY JOvOT
a2 )—k~ 1=59.88n
HEEa o )— b 1=56.45m

Sumoks \\\ S Ys

L=115. 26m ) 2\ O, s
\§ \ < PN :
3 \ 'ﬁ\\\/’o

f/' /IH /
<{/?”

E e
_3 mfz 44.62m 8 8
e i i
N . e B
Sa ST w2 om | Mt E2 E
4 2| Sl
2 #|
B wmmm EDZDFAS. 5
{eiiE B AR H0 (B 32 AR B IE RARSL)
EE
S
& T S L = 117.822 m
B FE IR ER
L = 61.142 m
Jﬁ
E; 1 | 1 I




BEYRZE - BIEIREHER (1)

&R A R B4r = ia®
BEMRIELT |3vsy— rMEsmEiEL |HaLTY— b m’ 4.0
EffnET FRIE i E|HaALT Y — b m’ 4.0
Ry E|HaALT Y — m’ 4.0




BEYHRE - ERIREHESE (1)

iz} Al A - BB g = =2k (v) # 2
avyy— hEEYREL| EHa V) —F
KR BRI 0.2 x 5.000 = 1.000 | m
0.02 x 15.100 = 0.302 | n
55 369,
V47.000
T . V46.635 8 0
\\\%a_ V46.335 § ©
CO\\
EE R 1.7 x 1.600 = 2720 |
Efkg\ V44, 100
pEE I
ELSE mgavou—r|V = 1.000 + 0.302 + 2.720 = m 4. 022

B |mBavsu—b| Vo= 4.022 = m° 4.022




HWE-EIHTRILRE (1)

REMILATER

L

RiRiERRAa o ) — Mk
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RER &

R il BifL HE e
ITEMERT
BtT m3 79.6
(Il m3 106. 2
RAET (RC-40) t=10cm m2 86. 1
BERRERE 1524 x 3048 m2 836. 1
ek tRiiE 1524 x 3048 m2 836. 1
ikt & 1524 x 3048 ] 180.0 I EHM
18 - RIZAELT
BEKIRERE 1524 x 6096 m2 74.3
BfktRiiE 1524 x 6096 m2 74.3
BExRE R 1524 x 6096 ® 8
ARERE 1219 %2438 m2 11.9
BRI E T H300x300x10x 15| t 0.7
LETHET HI00x300x 13x 24, EfEH| t 6.7 RER
EETRET HI00x300x 13x 24, EfE#| t 13.4 W=
ZTITHREEE 1000 x 2000 x 200 m2 48.0
ZIR#EZE 1000 x 2000 x 200 m2 48.0
ZITREHR 1000 x 2000 x 200 m2 48.0
wERAE M 8
RT 4 T8 L3¢ 12
SR 1219 %2438 (dty) t 2.1
HAZ$fH300 x 300 x 10 x 15 (ddy) t 0.7
HAZ$MH700 x 300 x 13 x 24 (ddy) t 6.6
EiEM GBRZH) t 0.1
R M 8
AT4TF— L3¢ 12
AL+ ¥:N 8.0
A4 = 1.0
KET Ry T8 =] 100 YESRFFHEK
REBEEET AB 144




REIHEHESE
& Al A - 2R -1 =x B # 2
ITEMAERT
BT |HEA
Pt 4.000 x 10.500 +
( 1.733 x 2600 ) x 1/2 x 11.553 x 1/3 x 2
= 50.676 [ m3
py==2
4.000 x 6.200 +
( 1.3 x 2033 ) x 1/2 x 9.032 x 1/3 x 2
= 28.947 [ m3
2V = 79.623 | m3 79. 623
W+ GRA) | 79.623 x 1.2 = 0.9 = 106.1636] m3 106. 164
BT (GRA)| 4.000 x 11.831 = 47.324 | m2
RC-40 t=100mm| 4.000 x 9.697 = 38.788 [ m2
2V = 86.112 [ m2 86.112
Bk HR
1524x3048| ( 119 + 26 ) x 1.524 x 3.048 = 673.547| m2
( 7 4+ 8 ) x 1.524 x 3.048 = 69.677 | m2
(T3> MBAR) 10 x 1.524 x 3.048 = 46.452 [ m2
(TR 10 x 1.524 x 3.048 = 46.452 [ m2
2V = 836.128| m2 836. 128
® 180
45 - RIRBTT| Bk
TE% - ik [ 1524x6096| 8 x 1.524 x 6.096 = 74.322 | m2 | 74.322
EE
1219x 24381 4 x 1.219 x 2.438 = 11.888 | m2 11.888
513 (kg/¥%) x 4 x 0.001 = 2.052 t 2.052
ST (BRI 4.000 x 2 K = 8.000 m
H-s00x300x10x15[  8.000 x 93.000 Kg/m x 0.001 t 0.744
3T
EX 12.000 x 3 XK = 36. 000 m
H-100x300x13x24[ 36.000 x 182.000 Kg/m x 0.001 = 6. 552 t
EEEM 1.900 x 4 =K = 7. 600 m
6.5x150x75[ 7.600 x 18.600 Kg/m x 0.001 = 0. 141 t
2V = 6.693 t 6.693
RE - M= BIR 12 x 2 = 24 ®
1000 x 2000 x 200 24 x 2.000 x 1.000 m2 48. 000




R THEHES

& Al A - R =1 = I--Xiv) # =
45 - RIERB I | FERBE 4 x 2 8 ® 8.000
B - BE (0.144 + 0.652 + 0.144 ) x 8 7.520 m
AT 4 TSR 4 x 3 12 ® 12. 000
(0.144 + 0.27 + 0.144 ) x 12 6.696 m
NER O |IE/ATESH W=300 0.652 x 4 = 2.608 m
2.608 x 37.7 kg/m x 0.001 0. 098 t 0.098
YT (0.652 +0.144 ) x 8 6. 368 m
AT 7F—|t8EFEHH W=300 0.27 x 6 = 1.62 m
1.62 x 37.7 kg/m x 0.001 0. 061 t 0. 061
) (0.27 +0.144 ) x 12 4. 968 m
ALk X 8
M22
R+t 0.7 x 4.000 x 2 5.6 m2 5. 600




HBRERERR
5 7 Bf & %
E 2 ERFHEOBEALIME | @ 1 thER & L
AT E t 338.3
Biffi SR HHTAE R = 1
BESEEE e 1




